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Woodlands Primary School
Homework Grid Spring 1

Expected Exceeding Expected Greater Depth
These need to he carried out eversy week M.aths English Select 3 projects from the list below
Wk | | Reading .at LEAST 3 times Adding and subtracting in | Verhs and Nouns to do over the half term
Complete Spelling Sheet powers of 10

Complete times table sheets

e Research how the Mayans lived

Wk 2 | Reading .at LEAST 3 times Adding .and subtracting Expanded .noun phroses and compare it to our lifestyles
Complete Spelling Sheet fractions
C,om.plzfz times tahle sheets e Create a information PowerPoint
oh Mexico-include transitions,
Wk 3 | Reading .at LEAST 3 times Mental maths Reading .comprehension- images and writing
Complete Spelling Sheet skim and scan skills
Complete times table sheets ¢ Design and make an item of

clothing that would be suitable

for people who lived in the Mayan

Wk 4 | Reading at LEAST 3 times Column addition Synonyms

civilisation!
Complete Spelling Sheet
Complete times table sheets e Create a top trumps game using
facts about Mexico
Wk 5 | Reading .at LEAST 3 times Rowunding numhbers M.odal verhs
Complete Spelling Sheet e Cross sitich or sewing inspired
Complete times tahle sheets Mexican theme
Wk 6 | Reading .at LEAST 3 times Prime .numhbers Commas in use
Complete Spelling Sheet
Complete times table sheets

Wk 7 | Consolidation .octivities .mixed ~v.ariety .and levels of achievement

Homew.ork will he given out every Friday. Homew.ork will he collected every Wednesday.

EACH WEEK THERE IS HOMEWORK ALSO SET ON EDUCATION CITY




ise: Look, say, cover, write, check

Cower

Check

Wr.ite

Check

Wr.ite

Check

X

example

flexibility

nossibili

tiniby

Now apply six of those words in o sentence.

[

2.

3.




Expected - Week |

2x6=_ Mx5=__ 10x9=__ GxG=_ 9x8=_
Fx2= 4x1=__ 9x10=__ 4x3=_ MxB=_
4x9=_ 5x3= Exd= 2x2=_ 4x10=_
BxB= 4x7=_ Mx2=__ 6x10=__ 10x3=__
Gx3= 2x12=__ 8x5=_ Mx12=__ Bx8=_
12x8=__ 4x3=__ 4x11=__ 10x12=__ 2x3=____
12x12=_ GxE=__ Sxd= Ix2=_ ExT=_
5x12=_  12x5=__ 3xT7=__ 5x10=__ 11x9=_
0x4=__ 8x2=__ TxE=_ gx2= Txd=_
M=x10=__ 1x2=__ 12x9=__ Bx11=__ 12x8=_
8x11=__ 8x10=_  B8x4=_ Ex3= ExT=_
2x8=_ 3x12=_ 3x8=_ gx1=_ Wx12=__
Tx2=_ T=12=__ 10x10=___ 10x8=__  3x4=_
Tx4= 8x2=_ 6x12=_ 9x2=_ 2x10=_
0x5=__ 2x12=__ A0x6=____ 3x1=__ 12x4=_

Exb= 12=10= 12=2= bx=3= 2x4=



Exceeding expected- Week |

A game where children add and subtract in powers of 10.

" Add 10. [ Add 1000. [ Subtract 100. Add 10 00O Subtract Subtract 10.

r Write a E-dlglt ]
number nf your
choice.

r‘l.l"nl'rite a &diglt ]
number nf your
choice.

[ Write a ﬁ-d.lglt ]
b er uj your
chioice.




Exceeding expected week |

1. In each sentence, underline the nouns and circle the verbs. 2/\\?
Be careful — there might be more than one noun in some sentences.

a. The creaky door swung open.

=2

Tara often plays with her teddies.

a0

Kingsley ate a fresh, green apple. %:1
The teacher opened the new book.

The giant steps over the house easily.

The sun appeared from behind the clouds.

The cheeky fairies run between the tall flowers.

e oo

Pencils and pens fall to the floor.
t. Mehmet skipped happily to school.

j. I made an amazing sculpture using paper.
~

<

2. Complete the following sentences with a suitable verb.
a. The dog the bone. &

b. The police officer the thief.

c. My sister her homework.

d. Thomas in the kitchen.

a. The ., swims inthe ...
b. My WOR @
c. The i, inthe ... grew very tall.



ise: Look, say, cover, write, check

Cowner

Check

Write

Check

Write

Check

X

example

carelessness

foolishness

Now write the words in .a sentence.




121+11=__
4=11=__
24=4=_
iT=7=
JD=5=
18=2=
90=10=__
48=12=__

72=8=

15=2=
A0 = 5=
B0 = 10 =

10+5=

14+7=
80+ 8=

24+ 8=

B4 =12 =
49 =7 =

24+ 3=

fr+11=___
2M1=7T=__
2-11=___
B+d4=__
19+3=_____
20=5=__

Id+11=

22+2=

28-4=__
s0+5=__
20-10=___
6+-8=_
45+5=__
120=10=____
16-8=__

f2+9=

f2=12=__
10=10=__
120=+12=__
18=3=_
21=3=__
1M0=2=__
132+12=__

15+ 5=

Jg=3=

12=4=

64 8=

A0 =B =

90 = 9=

63+ 7=

72+6=



Exceeding expected- Week 2

1. Write next to each shape the fraction that is coloured.

2. In each group of four shapes, three of them have the same amount of the shape

shaded. Circle the shape that is the odd one out in each group.

Raib! ¢

2.

1. Dwrow lines from these three crdes to any other
circle that has the same fraction shaded.

DDS

2. Write what each of these equivalent fraction images show.

L]

L]




Exceeding expected week 2:

Read the following sentences. Underline or circle the expanded noun phrase in each sentence.

1. The brightly-coloured parrot flew through the canopy.

P

After his lunch, Harold ate a sweet, delicious chocolate brownie.

Under the waves, the stripy fish swam quickly through the reef.

oW

In a forest clearing, a dark, mysterious jaguar sauntered by the water.

o

"Pass me the blue shoes please,” Mum asked Sophia.

o

As John sat at the bus stop, he saw three large, black cars go past.
7. "These strawberry yoghurts are out of date!” complained the customer in the shop.

8. "Whose is this writing pencil?” asked the teacher as she held it in the air.



ise: Look, soy, cover, write, check

Cownver | Write

Check | Write Check

Write

Check

exampel

x example v

craftsmanship

apprenticeship
ST

Aponsorship

Now write the words in a sentence.




2x2=_
12x4=_
7x10=__
8x5=_
8x10=_
10x8=
11x3=
12x4=
3IxT=
1x4=
7x6=
9x5=
Ix6=
gx4q=
A4xB=
5x8=

0x10=___
2x9=_
4x7=_
0x9=_
3x3=_
3x2=
Gx8=
6x10=__

I =7=
Ix 5=
5x 2=
[=h5=
AxT=
Bxq=

M=8=
bx12=

4x2=
6 x5=
Tx11=

Gx3=_
5x3=
Mx12=___
0x3=__
Ix12=_

b=8=

Tx3=_
Ex11=_
Gx1=_
12x11=__
1x8=_
9x10=_

2x5=
Bx12=_
0x12=__
gx5=
1x6=_
1x65=_
1=x10=___
I«10=_
Bx11=_

4x9=

0x12=_
Ex12=
gx10=_
0x7=__
Ex10=_
2x7=_

Tx2=_
4x2=
9x7=_
12x10=__
1x12=__

5x 9=

8x6=
3x1=
2x5=

12x7=_
4x5=

12x9=
x9=_

3x10=_
9x11=__
0x6=__



Exceeding expected - week 3

Match the words to the closest synonym

gUSt

trails

EI'EPI

twittering

drew

tilting

1. What metaphor is used to describe the hanging ivy? Why is it effective?’

string

chirping

flurry

pulled

crowled

leaning

Highlight the words you have matched in the text

Mary had stepped close to the robin, and suddenly the gust of wind swung aside some loose
ivy trails, and more suddenly still she jumped toward it and caught it in her hand. This she
did because she had seen something under it — a round knob which had been covered by the
leaves hanging over it. It was the knob of a door.

She put her hands under the leaves and began to pull and push them aside. Thick as the ivy
hung, it nearly all was a loose and swinging curtain, though some had crept over wood and
iron. Mary's heart began to thump and her hands began to shake a little in her delight and
excitement. The robin kept singing and twittering away and tilting his head on one side, as if
he were as excited as she was. What was this under her hands which was square and made
of iron and which her fingers found a hole in?

It was the lock of the door which had been closed ten years, and she put her hand in her
pocket, drew out the key, and found it fitted the keyhole. She put the key in and turmed it.
It took two hands to do it but it did tum.

2. Find and copy a phrase which shows Mary is excited. 3. Where did Mary keep the key?




Using .mental methods - o mw.orking out.
Each circle must add up to 100. Insert the missing numbers to complete the circles. Each circle must add up to 100. Insert the missing numbers to complete the circles.

Use your knowledge of addition and subtraction to solve the puzzle. Use your knowledge of addition and subtraction to solve the puzzle.
73,42 47,10,19 32,19, 26,73, 47, 44 4k, 35

£




Expected — Due 01.02.23 Week & Spelling practise: ook, say, .cover, write, .check

Look S Cowner | Write

Check

Write

Check

Write

Check

example

stationary

stationery

Now write the words in .a serntence.




120=10=

B4=12=_
12-12=__
6=8=_
81=9=_
/=T=
P=3=_
M7=
P=5=_
45-9=
12:3=_
%=12=_
4=2=_
24-8=_
48-8=_
2:2=

T=T7=

48+6=
132=11=
48 -4 =

84+7=

42 <6 =

18+6=__
B0+ 10=_
B+12=__
80-8=_
63+9=_
9-7=__
55+ 11=_
10-2=__

50+ 5 =
12+4=

90 - 9 =

2:2=_
18=3=_
20-10=__
PBa11=_

W+4=_
6=
/5=
110=10=__
P+4=
P=10=_
88+8=_
24:2=_

W/=12=_
72:6=_
50+10=_
132=12=
M=11=_
A0+5=_
P-8=_
14+7=_
120=12=

99+ 9=
96+ 8=

64+8=

IG=4=

0-10=__
12:2=_
60<12=
0+2=_
28-7=_
6/-9=
2:-11=_
90=+10=_
54-9=_
/6=
56-8=
5:5=
121=11=__
63=7=_
0+10=__
a4=11=__



Exceeding expected - week 4

Answer the following problems and show your working using column method.

Mrs Mansfield has £1.48 in her purse but she loses 49p, how much does she now have?

The hus to town costs &1.15, with the money left in her purse can she offord to go to town?

Miss Bennett has £12.68 more than Mrs Mansfield Cher original amouwdt) How much does
Miss Bennet hawve in total? She is then gets £780 for her hirthday, and £1980 from her car

Sale, how .much does she now have?

If Mrs Ball had £100.98 and Miss Volante had £20.21 .could they afford to a £122 puppy if

They combined their .money?
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Find four synonyms for each of the words below.

small

big

sad

happy




ise: Look, say, cover, write, check

Cowner | Write

Check | Write Check

Wr.ite

Check

exampel

x example v

complement

Now write the words in a sentence.




bx 8=
Bxb5=
bxb=

IT=2=

1x11=__
5xG=_
1x6=_
Tx8=_
3x5=
8x10=_

1=x7=

Ixb=

6x7=

12=x12=
I=2=
IT=9=

Ixil=_
Ix5=_
Ex3=_
Mx12=_
4x11=__
Tx12=_
Gx12=_
1x8=_

9x§=
bx{=

4x2=

9x11=

Bx1=

10=1=
10x12=
9x b=

4x6=_
12x8=_
9x10=_
0x11=__
Mx6=__
5x5=
4x9=_
Ix3=
gx11=_
8x12=_

bxb=

1M0=x2=

4x8=

10x7=
G x 4=
11 x10=

12x5=__
BxT=_
Mx3=_
6x10=_
1x10=___
1x9=__
Gxd=
Gxi2=_
0x7=__

4x7=
ExT=
Txd=
IxT=
fx3=

4x12=
2x10=

10=8=
10=3=
12x10=

Ix9=

Mx3=__
6x1=_
Tx11=_
9x3=_

gx4=
3Ix6=

TxT=

12x2=

Bx=9=

10x6=
8x10=
12x4=



Exceeding expected - week 5
Round the numbers helow to the nearest 10, 100, 1000 or 10, 000. Think carefully about the value of the digit.

Player 1

Input

Round to

the nearezt...

Output

427 813

64 231

73453

982 165

L34 891

573 356

48 274

2124

31 465

386 231

6_o

Player 2

Input

Round to

the nearezt...

Output

65 284

838 421

748 621

27 458

384 721

47 563

472 274

4 531

74 558

121 745




E xcooding expected mock 5:

. Choose one of these modal verbs to complete each of these sentences — you can use
each one more than once if you need to.

T ) (o ) [ ) [Coous ]
e ) (e ) [ woe ) [t

a) Pasha try her hardest at school.

b) He is so tired, he keep his eyes open.

c) Tom is a great footballer. He even play in goal!

d) If she keeps trying hard, she just have a chance.

e) He is still learning. He do his shoe laces up just yet.

f) vou hurt people or steal things.

g) When you have finished eating, you wash your plate.
h) When they get there, they find it waiting for them.
i) The cold makes it likely there be icy roads tomorrow.

j) When I am older, I be a millionaire.



ise: Look, say, conver, write, check

Cowner | Write

Check

Write

Check

Write

Check

exampel

X

example

v

Adesert

dessert

draft

draught

Now mwrite the words in a sentence.




5x3=
0x5=_
Ex5=
4x3=_
Gx5=
12x10=___
Ex8=
9x12=_
0=10=__
Mx1=_
9 x 6=
0x8=_
10x7=
6x12=
14=7=
4x8=_

2 +=3=

1=6=
1=2=
gx5=
g+9=

3x11=_
0=x11=__
8x12=_
49:7=_
5x9=_
0%x3=__

f=5h=

16+4=

B6+-9=
12+2=
M=x8=

T=12=__
0x3=__
48+6=_
BxE=_
Tx8=_
12x4=_
9xd=
/5=
45+:9=
120=10=____
12x5=_
B0<5=_
5x12=_
8-4=_
x9=_
00+10=__

121+ 1=

f=3=

Ex3=_
Mx3=_
Ex7=_
9x7=_
3x10=__
2x12=_
72-12=_
132=11=___
Mx2=_

6=3=

30=10=_
Tx6=_
Wx2=__
12%x6=_

365+7=

2=b=

12x2=

4x11=
30-6=
5x10=
A4 = 4 =

2x4=_
12x12=_
MxT=__

Mx12=_

4x5=

Ixil=_
Ix1=_

0x7=__
60+6=_



Exceeding expected — week 6

Help the Penguine to find the nestlings by coloring all the prime numbers.

Helpful Hint
A prime number can only he

'L&'; 19 | 47 | 24 | 93 | 62 | 75

9 15 94 23 21 68 49 86
35 54 63 5 76 85 10 38
96 22 84 31 53 29 92 64
77 46 99 18 4 41 50 27
24 36 57 45 66 73 3 48
a1 12 80 8 74 98 6/ 59
69 44 6 39 65 16 55 17
32 87 /8 14 20 33 42 61
83

¢
[V

Ak Ak




Exceeding expected mweek 6:

Read the sentences as an editor and decide if you think commas need to be added. If you decide to add
commuas, explain your reason for doing so.

Explain your reason for adding commas or

Sentence leaving the sentence as it is.

The rabbit had long sharp pointy teeth.

As the campers sat round the fire eating the
bear stayed in the bushes.

Lucy wanted a biscuit but she couldn’t have one.

David who was 10 wore glasses.

Hetty dressed and performed for the packed
audience.

There was lots to do at the fair including face
painting and a raffle.

While the onions were cooking soup was
brought from the shop.

If you have got everything you need then we
are ready to go!




Challenge 1

Which co-ordinating conjunction will you choose to link the independent clauses below to form
multi-clause sentences?

1. Jclhnng could not go outside there was a torrentia storm.

2. Matilda likes to go shopping she likes reading adventure books.

3. Mr. Jones had not given the class any homework for two weeks does he plan on doing so this week.

4. SﬂJ!g hates chocolate her best friend loves e-uting cngthing sweet.

5. The cat likes sitting by the fire and warming its fur lying on the sofa next to a soft cushion
6. James hates brushing his teeth he does it twice a doy because he knows it's important.

7. Veronica broke her mum's television she banned her from playing football inside the house.



Week 7:

Pygmy gecko

The pygmy gecko is a species .of tiny lizard that grows to just 24mm long: thats about the
length of a small paper clip!  They live amongst the dead leaves .on the floor of the
Amazon, the ~vaost tropical rainforest that covers a large part of South America. The pygmy
gzdwza,bs,tm%wﬂmo,po,d/s(uzaﬂumwi&mmmwﬁkdztonﬂwm,dagamndm,ws
springtails and mites. Thanks to the pygmy .gecko’s small size, the w.ay it mowves, and its
superhiydrophohbic (A/v,aw-xzpe,llzrbt) sRin, this tiny lizard can walk on w.ater!

Ln this clip we see how the pygmy gecko’s w.ater-repellent skin helps it to swrvive in its
dangerous rainforest hahbitat.

A chinibi:

What would you do if yowr skin could repel water? Lmagine that for one day you had hydrophobic skin
like a pygmy gecko, .and write .o diary entry describing all the things wyou did. Try to include the
Lollowing details:

o Talk ahout the important events that happened to you throuwghout the day;
« Describe the places you visited;
» Describe the people you saw (this might be your family, your friends or gour neighbours);
« Talk about your feelings;
« Remember to wirite in the past tense.
Once you have finished, why not read it out loud to someone at home?



bx3=
10=x5=
hxbh=

4x3=
9x5=

12=10=

bx§=

9x12=_
0=10=__
Mx1=_
9x6=_
0x8=_

10x7=
6x12=
14=7=

4x8=

27+3=
1%6=

1x2=
8x5=
9-9=

3x11=_
0=x11=__
8x12=_
49:7=_
5x0=_
0%x3=__
Tx5=_
6=4=_

36+9=
12+2=
11x8=

Tx12=
10x3=
48+6=

6x5=
Tx8=

12x=4=

9x4=

F/=5=_
45+:9=
120=10=___
12x5=_
B0<5=_
5x12=_

B-4=

bx9=
100+10=

121=1=____
Tx3=_
Ex3=_
Mx3=_

Hxi=

9x7=_
3x10=_
2x12=
72-12=_
132=11=____
Mx2=_
6-3=_
0+10=_

f=x6=

10x2=
12x6=

35+7=
2x6=
12x2=

4x11=
30-6=
5x10=
A4 = 4 =

2x4=_
12x12=_
MxT=_
Mx12=_
Ax5=
Ixii=_

Ix1=

10x7=
60+6=



120=10= =0= E) 5= 3+3= AD = 10 =

84+ 12= 777 = 12+4= 36+ 12= 12+2=

12+ 12= 48+6= 90 +9= 72:6= 60+ 12=

l6=8= 132=11= 2+2= 50+10= 20+2=

81=9= 48+ 4 = 18+3= 132+12= 28+T7=

bB=T7= 84 =7 = 20=10= M=11= Jb+9=

30=3= 42 +6= B=11= 40 5= 22+11=

21=7= g+4= g+-8= 32+8= 90+ 10=

30=5= 18+6= 28-4= 14=7= 54+9=

45=-9= 60+ 10= b+-b= 120=12= Jb+6=

12+ 3= 48+ 12= 35=5= 6=2= 56+ 8=

96 = 12 = 80 - 8 = 110+ 10= 99+ 9= 5+5=

4:2= 63+9= 2+4= 96 = § = 121+ 11 =

24=-8= 497 = 30+ 10= 4+4= 63+7=

48 = 8= B5+11= 88 =8= bd = 8= 10+10=

2+:2= 10+2= 24+2= 36+ 4= 44+ 11 =









